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1a) Heat capacity is given in the units Joules per kilogram kelvin. The value for a material may be derived if the
energy injected into a system, the mass and the change in temperature are known. The material being
measured must stay in the same state, ie liquid, solid or gas.

Q:me{

Q_-.¢

ﬂ—

m AL

pPNIS = (hr‘*)
K

ki \vjrm ¥

the units themselves are derived from the energy injected or realsed from a system (in joules) divided by the
mass (in kilograms) and the change in temperature observed (in kelvin)
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a) STP - Standard Temperature and Pressure
NTP - Normal Temperature and Pressure
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Magnetic flux is the technical name for a magnetic field. It is measured in Weber and can be found in a few
ways. One way would be to multiply the flux density (in Tesla) by the cross sectional area inside of the
conductor (inside the loop)
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KM is the distance from the Keel to the
Metacentre of the ship.

KG is the distance from
centre of Gravity of the snip.
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